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Part - A
GENERAL INTELLIGENCE & EEAEDN]NG
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(A) X7Y (B) Y/X

(€ XY D) Yi60X
The ages of five friends a, b, ¢, d. e
with the age difference of 2 vears each
add upto 60. What is the age of ¢ ?
(A) (BY 12 (C) 14 (D) 20
From the given alternative words,
select the word which cannot e
fmmud using the letiers of the given

SALAMANDER
(A} LAND (B) DAMN
(C) SEAL (D} MIND

From the given alternative words,
select the word which can be formed
using the letters of the given word.
MEASUREMENT

(A) MASTER (B) ASSURE

(C) SUMMIT (D) MANTLE
How many meaningful additional
English words ¢can be formed from
the letters in word ‘FACE' using
each letter only once in each word ?

(A) One (B) Two

{C) Three (D} None

If in certain code DURADARSHAN is
written as CVQBCBQTGEM, then how
TELEVISION can be written in that code 7
(A) SKFUIRONTI

(B) FIKRONSPIT

(C)y SFUIROKTE

(D) SFEFUIRINOG

If in a certain code LITERATE is
written as 27645864, and DATE is
written as 9864, then how ‘RELATED'

8

10.

1L

=

will be written in that code ?
(A) 5428469  (B) 5694642
(C) 5428649 (D) 4592646

33 3 pup -;]

In a % 1'
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é:: 608 f?ﬁ
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m”“'%}"f&f’ﬁ‘m e otiowing
E]l?a?ﬂhtuld
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If 92 » 24 = 58, iﬁ " 3'%

33+49=4], ﬂwlﬂ'\‘uldmﬂﬂlﬂﬁh

{A) 56 {E&_ﬁﬁ (C) 52 (D) 58
+

= stands
+ stends for — < stands for >
— stands for +

+ stonds for =
w stapds for < = stands for x
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Directions : In Question Nos. 16 to 21 '
ﬁelactth:relamd wmﬂ.ﬂif:mm?;umbumﬁmﬁ 2 :evmhi]rcll] t:"i mn mmﬁmﬂﬁ
the given alternatives. fnl.'luwmg 7
6. Pmldm!u - Prime Minister : : .. Tissue 2. Organ
3 Atom 4, Cell
\-’nqusld:n,t 3. Molecule -
(A) - 34512 (B 35412
(C) 34521 (D) 35142
17, Dnntnr Pmim A 29. 'Arrange the following words as
(A Eng;inm-.rt {.‘mnmt:r : urderm ﬂ'mdmumar';-g 5
Ln.v.r;,rer Judge g Reliable 2. Remarkable
-} Crop : Farmer 3. Remembrance 4. Reloctant
) Pilot : Plane 5. Receptionist
B DI PRI
f J 2 (o 34
(C) CGKO GKOS
19. TSAE:TSEW :: HTRON : ? 30. %hmntl:ﬂmuﬁmmmaﬂy
(A) HTUSQ HTUOS placed at the mﬂmﬁwmhlmf&mm
(©) H'mus fg% HTSOU *;‘"m;“»
20, 123:369 T TR
(R) 960 (B) 396 (C) 963 (D) 693 SO DI T S
4 PR B 9 +36: 7 \
(A) 4 '(B)81 (©9 (D) 36 Dircctions : In Wm Nos. 31 10 33, a
SEres 1k with one {erm missin
ploetons NI NE B0 T, | S ok e i
from the given alterngtives. - given ones that will complete the series :
22. (A) Strest (B) Hbuse 31. AZBY,? EVFU, GTHS
E Residence éB; Dwelling % BYC%; {g} CXDR
. : " CXD (D) EXDZ
23. (A) Lil 2
(& Chimpe B Hiomne 2. 41130852687
(B) 444
24. (A) 4 Bj 25
(& 4o B - ST A8 By 73
25. (A) 120-80 B) 5719 10, 18, 34, 7, 130,258 -
f} 45 -30 fu; 63 - 42 {A).23 Lﬂgﬁu (C) 68 (D) 66
26. (A) CP 34, A woman g 10 & person said, “He
& Do ) 8o s the son of my mr:.rdﬂm
27. (A) MONST EGFLM L!L:r Sister miﬁd NG
L] ] & L
SPACE FOR ROUGH WORK
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Fordw . = W 16 H 21 Fwow faet o 98 Py P # & i W ey i el
A e v e T T T W i
16, Tl ; W o 9 . T 2. @m
(A) TP .ﬁ, A 3. Em 4. wIEE
(C) anepg (D) He s 5. &
17, fefieraw o - (A) 3312 «H) 35412
_‘_m e (C) 34521 (DY 35142
a5y B 20, Fefefer v oty & e e
{{:} ‘Eﬁﬁ : e ¥ ot -
(D) wFe e o 1.  Reliable 2. Remarkable
18. BRI EIMQ::DHLES? § it
: : m A) 51432 @) 23154
19 ‘{‘ictﬁ:ﬁgw -\ﬂi% % 45132 B, 51423
[A} HTUSD % H'nm 0. o T At s F s fee e W
(C HTOUS HTSOU e 0 T A A A A
20. 123:369::321: : ﬂ?ﬁ.”qﬂmfﬂqﬂm?
(A) 960 (B) 396 © %63 (D) 693 b g bdd_a _
21, B1:9::360% ~AA] biaba (B) dhabd
fordwr : v wen 22 @ 27 % 6 o om Praar mmmnmﬁqﬁm&w
et & 7 Terr e AT T g t, Pt o o e b g P 9 W
22. .iK) TEE (B) W= we 7t T it i s @ T |
T (D) e, 3. mfé;évm GTHS
23, \A) Tl @/ TEm . CXDW ?I}:; EXDZ
(C) W (D) =
32 tn 30, 85, 248, 7
Sl LB (A) 333 (B) 444 (C) 683 (DY 135
o 3 33, 10,18,34,7, 130, 258
L e i mf‘:
: ; 34, T HhEeT H R b
3 i e % R T O T o
SR E (D) ' % & 1 s w3 e @ v oEe )
27. (A) MONST «B) EGFIM (A) ufEm (B) =
(C) CEDL (D) EMLOR of (D) =t
T T T =

33INM 4 5
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A5. A man goes wowards East 5 km, then 3. Four
he takes a tom 1o South-West and hg]uwwm}r n:h;hﬁm ﬁvi
goes 5 km. He again takes a turn the face opposite 6
towards North-West and goes 5 km. N ki
With respect to the point from where Question ’
E; : mw_‘l:rereie now 7 6 ]
n st 4 2
& hie, 7 @1 e
5,““'"" point (A)S (B)1 (CO)3 (D)2
(D) In the North Fas 40.  Find out which of the figures (A) (B)
T L N R e gl e .
and walks 3 km. From that point mmﬂsﬂnn Aoy
she walks straight to the starting
point A, Wlmtzsl.h:lmal distance
covered hnrgm B}
(A) 12 {C) II] (D) 14 8
37.  Ome statement is given followed by two ] :
mglmmls (T} and (). You have i . - ;
the staternent to be true, even if @ @ @ @
11 seems o be at vu*m from
commonly known facts. You are to
decide which of the given wrguments can 1A} (B) (€) tD)
definitely be drawn from the given 41. How many triangles can you find in
statement. Indicate your unswer, the diagram below
Statement : Should new
umversities be
ished in India 7 «
e S
mﬂﬂ?%"m i (A} 16 (B) 17 (C) 12 (D) 15
ved yo 42 Which of the following diagrams
Mgumm{[n:‘fm..tmﬂ'_pm represents  the comect  relationship
achieve  litcracy between Carnivores, Animals and Tigers
~{A) Only %Im Sleon A
(B ﬂn[}r%[“ﬁﬂ“ﬂ?ﬂ' i (ID (BI .
(C) Either 1 or II are strong. @
(D) Neither I nor 1] is strong. '[C} ®)
38. (1) Class X has higher enrollment 4. one of the
gm:?ﬂl Eﬁ: . Fmd.Eurﬂ,Spmm?
ass ower than
gimm.mmm ) ® Q0D
u~mm{%umd:ﬂﬂurd 18 _
Tru B e © ©@o o @
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35, v =i 5 e o w s oo | A
aF st e A gEer 5 Rl
W & 1w 6T #% aeaiew Rew w

A) i (B) T

. 6 mﬁgw (D) i-r{&ﬁ
36, TR A H 4 el S A e
i = e 3 Tl W E 5 e
aa’trﬁﬁﬁﬁ;rﬁrt |

L |
At ok o T T et o
# = A o B Brow e |
e w1 we & | 3 e o BfEe
wifar |
T -

e W e
e | %, B9 Ie fm e
=i ST g
T T TEA )
Foreen 11 1, THU WA ¥ e
W W wE H wmaar
feEpdt |

(A) et Frewd [ Tomm €
AP S Tt 11 T £
() T P 1 TS £
(D) = & fomend [ % T momp |

B (1 x?ﬁﬁ'%ﬁﬁmmﬁﬂ

TR |

(2) Z%W S YT E FANEAGEE |
(3) X T Z W ¥ wy e
oiE wEw = v mE A o e o
(A) w0 Ui nd
(C) =t (D) s

(A1 5 3
40. I T, 7 for o wst R
REGR =T v
‘!‘H’ﬂ_'@ﬁl':
g b
ap
mmgﬂwh
(A) (B (€ B
41w wif, e oo s # fee
g

.»f'tﬁ‘ 16° (BY 17 o) 12 (B) 15

42, FeimiEn 4 A #m @ Tm
i idie i Sl il T
oA 7

(A) @ @
-1 o ©9
43. ﬁrﬁr##ﬂwﬁqgmﬂtm,m
]

T weTe ® Ui
® QUD

(A)
A @u_ - (D)

T W %

JAINM 4

DA-2013
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44. In the given figure, circle stands for 47. From the given answer figures, select

cultural “club, triangle - stands for the one in which the question figure
sports club and rectangle stands for 15 hidden/embedded.
music club. Show who are in music n Figure :
club, as well as cultural club and not '
in sports club : @
a fe Answer Fig :
| @
P &
N LJ L
Eg‘l g (B) d {A) (B) (C) (D)
Ik @) ¢ 48. A piece of paper is folded and cut as
: shown below in the question fi
Directions : In Question Nos. 45 & 46, . - 1:| i
which answer figure will complete the mmethﬁ, .wgn;?”w-ﬁmmmr g
pattern in the question figure 7 opened. ; L oy
s 0 — Q;chMMM: _
: )
a 4
Y = ;
Fall s Auswer Figures :
Answer H f‘#“] .Ju ::] ‘.I uJ o
o a L
(8| B || P <ol RS
- = = (A) (B) () (D)
) ) ©) (D) 49.  Which of the unswer figure is exactly
& bt E : rh:nurf;rlmagenfthcgwunﬁgum?
Answer Fi : Answer E .
SR | & ngD=]p=]fng
y (Al "B T T (A} (B) (€ (D)
SPACE FOR ROUGH WORK
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44, @k s § o wEE wm, G

47, e sngiaal § 59 ST SR

W wE S AP HiA w6 R e e e S i E
T, A FE T A e o O WE HIFA
5 FE A T A E
AT ATFTAAT -
®@e@
{A) ¢ (Bpd (Ok (D) c _.J _ - L_J
o A @& © O
forder - me W 45 A 46 O F # I 18, = w TR H e SEEN e
ST T S WS G FA 2 T AEET T AU Eer ¥ A% 9
45, WA ATHIA W st ;
i i;,{ ,SS/ /c;
My |
.‘d"-..-"' i
TAT FTH AL FAT S
a s il o ¢¢¢
. o a L=
AEE o5 34 A B
(A) B) & (D) LA (B} ) )
49, = O 3 s 5 T AR w0 OEe
Af, TP HTE ; ey winiEe & 7
% tdl
EHTEHTQ;TTH: = i
EHE] P 1= =] b =) [=¢
..j,y' i O = R ¢ B o8 () (D
| T e o forr me b
JAINM4 ) DA-2013
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50. A word is re b
2 Yl ﬁamﬁﬂmﬂdq e m;ﬂéﬁ;ﬂm{:eﬁg 43 Hnm% 1 #::kedm{edm from the top
: tives. The sets of numbers given - om hottom amnnl%
in the alternatives are represented who Fd“fd in the class test
two classes of alphabets as m-hg 8 students failed, what was the total
matices given below. The mfumns E::mm of students who nppcared in
and rows of Matrix | are numbered A]Eﬁm mam?
ﬁ'DmﬂlﬂﬂlmdmmU.mem [ {B) 38 (C) 48 (D) 50
numbered from 3 0 9. A letter from 44, Um:mnhlc the following letters to fmme
these matrices can be represented firse | word. Then find out the
!:-1- fts row mul neséilh its fE:fF n, e, WLWE?! Wﬁfﬁ letters -
o o B e SRR g g
¥ Wi & -
set for the wmg?punm ['.‘ASIH‘!mf}rl t_g_l 791065432 Ilg
[ TOIT 21314 | (C) 10988532417
CINICTETETA] S R e (D) 92108317465
LIAINICITTE] [§/S[HIT BT 45, Selecsthecurrepnptmnfmmme
Y EJAINICIL FRIT SIH ﬂltmaum A" Jan, 2008 falls on
TICTETAIN(C] [EIRITISMH Friday, v-hmda of week will fall o
TCICIETAIN] [TITISTHI e dainihs
(A) 23, 10, %3, ' ' A,IJ Vondsy ~ (B) Fridsy
B) 34,32 68 97 Wednesday %DJ Sunday
C; 12,43, 76, 88 46.  After 7'o clock al what time between
D) 40, 21,59, 79 :mrTum ;'El;milm ;MLI Ehektmu: and
|14 ] B 0O
FOR VISUALLY HANDICAPPED opposiie direction 7 g S P
CANDIDATES ONLY W
39, ‘I:t;llggrkm:lr:icﬂlladdclﬁrﬂlﬁlear is (A) 6 minutes past 7
wind 15 ¢ : 2 - r
Jlight' is calléa “dull’, *dull’ s called () 16 minutes past 7
P D Je e, ey e
I.ﬂh ﬂ?%n}llusug of efm Jeh; then whai i (D) 167} minutes past 7
u (B) bro - Langua red ITLCH
EC.{ light { DJ} hen$ ":!u the %mﬁ "-r’:.i_'!.l' :Fd th'}etg related to et
. [If MAN is 28, th e (BJ Eia.tm::t
(A) 30 (B) 33 () 43 cud e i '["'-3‘} Light D) Fue
41. :fﬁtlfﬂﬂ#:u o, then ugt]mrb- T-'AE SIE 5ET %%Em;]}lﬁ 6956 o 2
xltx ( { 99
(C} bwwitx qu hi?i‘ﬂ 49, 3 : ots ]d:m mfngs} 575 (D) 228
o : squ'ﬁm b e 165, 195 zss
. Six e A, B, C, D, 5 2le 10
s,mnlf'ﬁnw Lyt S bR H e Hiﬂcd sized flower bed, Ifrhr:hmadﬂ: of
1} A doesn't want fo sit next to B, 1% hdm the maximum length that a
C Jrl. s.:m:lnﬁ opposite A and to JE?IF‘ {ﬁ”ﬂq”":ﬁmg D) 3
eft n .
[Sﬂ fF is L'-Elwe-r:n C and F. then S, QW many 3°s are Iﬂlﬂ}wed ¥ il cube
nm: 511'Ll|: Hﬂdl’lghh}fﬁ’ :ngﬁ: and  preceded square
B) DandF
S } Bardb 958 'fﬂjmgg:g@ggpfm
SPACE FOR ROUGH WORK
DA-2013
J33INMA4
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S0, T YR W U SR S S 43. T A WRT 7 I O § W w3
¥ % T et § @ R v o W da HwAe # 27at S afre BE
hﬁmnﬁvwmmmmﬁ e BT A W 7 e T o A
T gAY T W E, A &qwa} {A) 45 (B) 387(C) 46 (D) 50
HTEE F ¥ | SR | % TR ST O 4. T = = F e et a5
muﬁu} ahaqﬁgnﬁwgu | SETEET S S W HEE
¥ OAEE W TE WY W U 3O mmﬁw
e 3F SE H T W g sve w NEI FLUGNMA
TE & | FEE & fw AT 04, 10 1 234 3 6 7 8010
s71f% ZTT ww o W E A R EEIST }‘E‘{ ol cs iaie
68 = BRT =9 A E | 6 C) 10986532417
mﬁqm‘mm ﬂrmwﬂ ED: 92108317465
TR | 45. Tow w fw O @ wEl freen gfr
LD NESERE TR 718D aft 4 T 2008 %t e & o

OINICILIETA]| |[STHITIRIT]S | 4 FE 2009 T & H e T 7
[ TATNTCILIE| [E(SIHIT[RT Ay wrEET (B :
S EIAINICIL] (AT STH | . ?ﬂ;
JLTETATNIT] [BRITISHIT] (C) TR (L
'4'*5;}L1E 1#1?2 559{31 T;:E 97 = %THWW b S
23, 10, 85; » 3, 08, LEET =
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51,

-E R

54.

55.

56,

5?I‘

The first postage stamp was issued in

(A) Varanasi (B} Karachi

iC) Allahabad i Mumbai

In spite of being located at lower

latitucde  than Amristsar, Shimla

colder because

(A} in Shimia it snows heavily

(B) in Shimla pir pressure is higher

(C) it is ata higher altitude

(D) Shimla receives heavy rainfall

Border roads are built solely with the

purpose of maintaining

{A) trade ties with neighbouring
Countries

(B} tourism

(C)  security of the country

(D) religious ties  with

COUNITIes

The recently commissioned Nhava

Shiva port is situated in the state of

(A)  Andhra Pradesh

(B) Gujarat

(C)  Maharashira

(D) Tamil Nadu

The word CNG in the transport

network system stands for

iA)  Chlornne Natural Gas

(B) Commercial Natural Gas

(C) Compressed Natural Gas

(D)  Condensed Natural Gas

The author of  “Philosophic

Zoologique” 15
By Darwin

(A) Lamarck
iC) Anstotle (D) Morgan

Which one of the following is both a
local anesihetic as well as a stimulant ?
{A) Cocaine {B) Alcohol
{C) Heroin (D} Quinine
The other name for phloem is

(A Wood (B} Sclereid
(Cy Fabre (D) Bast
Triticum  aestivam, the common
bread wheat is

(A} Temaploid (B) Hexaploid
(C) Haploid (D Driploid
Branch of Biology deals with extinct
OTZANISIMS

(A) Palvnology (B)
i€y, Palaeobotany (D)

other

Phylogeny

DA-2013
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6l.

ﬁil

.

What could be the function attributed
to the transfusion tissue found in

Cycas leaflets 7

(A) Mechanical (B) Conduction
(C) Storage (D) Photosynthesss
The least distance of distinct vision is
{A) 35¢cm (B) 25cm

(C) 45¢m (D) 15cm

In photoelectric emission, the energy

of emitted electron is

(A)  same as that of incident photon

{B) larger than that of incident
photon

o) kess than that of incident photon

(D) proportional to the intensity of
mcident light

Angular momentum is equal to

(A}  moment of inertia x

anguluer velogity

mass x angular velocity

[inear velocity x

angular velocity

(I3} mass % linear velocity

Superconductivity means

(A)  verv feeble coment

(B) wery large current

(C) curremt withowt facing any
resistance

(D) cuorrent due to positive particles

Which of the following communication

modes support two-ways traffic but in

only one direction at a time 7

(A) Simplex

(B} Half-duplex

(C)  Full-duplex

(D) Three-quarter duplex

WINDOWS-0% is basically

(A) ahigh level lanpuage

(B) an operaling system

(C) an input device

(D) & machine language

A compound used in medicine as a

pain killer is

(A) Urotropine
(C)  Aspirin

(B)
(C)

(B)
Dy

Chloroform
Ethyl aleohol
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69,

Ti,

Tl

T2

rk &

74.

78,

76,

Which of the following react to
produce urea 7

(A)  Ammoniim Chiloride +
Calcivm sulphate

Craroon diosade + Arormomia
(C) Acenc acid + Ammonia

(DY  Methane + Carbon Monoxide

Exsential olls contain
iA)  Alkaloids (B) Terpenoids
(C) Porpoise (D) Steroids

The percentage of carbon in steel is
{(A) 3ws (B) 0.1t00.25
C) 05wls (D} 6wi

“CEPI"” stands for

(A) Comprehensive Environmental
Pollution Index

{B) Council of Environmental
Pollution of India

(C)

(D)

Y

Centre of  Environmental
Pollution Indiana

Centre  of  Environmental
Pollution and Industries

The snow leopard population in India
is not found in

iA)  Jammu and Kashmir

iB) Armmachal Pradesh :

{C) Himachal Pradesh L

D) Western Ghats y"

/
This tree is referred 10 as ‘Bubabul -
(A)  Prosopis juliflora
(B) Leucaena lewcocephala
(C)  Albizzia lebbeck
(D Pithecolobium saman

Which of the following is not a

component of to guahfy the “Green

Embassy™ 7

(A} Rain waler harvesting system

(B) Installation of solar panels on
the root

(C) Installztion of air treatment

filter in the office ventilation

HS'IFFN disposal of garbage

ai

generated in the embassy

Which of the following 15 pot a

national holiday ?

(A) 2" October (B) 15" August

(C) 26" January (D) 25™ December

Where do the sunrays leave India 7
(A) Gujarat (B} Pondicherry
(C) Goa (I Andaman

(I

DA-2013
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78. Bhangra is a popular folk dance of
{A) Haryana (B) Chandigarh
(C) Punjab (D} Gujarat

A woman who rems her womb 1o
produce a child for others is known as
(A} Biological mother

(B} Step mother

{C) Surrogate mother

(D) Foster mother

The Silkworm Research and Training
Institution under the Central Silk
Broad in Indin are sdministered by
the Union Ministry of

iA)  Forestand Tribal Welfare
(B) Forest and Environment
{C)  Agricuolwral and
Lievelopment

Commerce and Textile

9.

Rural

(1)

Bl. Whih Economist was awarded
Nobel Prize for economics in the
vear 1998 for his studies on poverty
and famine 7

(A) Prof. Robert Mondell

{B) Gary 5. Becker

(C) Amartva Sen

(D)  Manmohan Singh

The credit of construction of first
nuclear reactor goes to

{A) Niels Bohr (B) Fermu
{C) Einstein (D) Oppenbeimer
Which of the following is a
commercial crop 7

iA)  Cotton
(C) Jowur

82,

{B) Bajra
(D) Paddy
Name the story written by
Rabindranath Tagore 7

{A) Untothe Last (B) Al-Balagh
(Cy» Akash D)  Kabuliwallah

Which of the following is not comect ?
(A) MSP —Minimum Support Price
(B} NGT — National Green Tribunal
(C) BSF - Border Security Force
(D) PIL - Public Introduced Litigation
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87.

Egl

91.

92,

Equilibrium of the monopolistic firm
(A} necessarily is profitable

(B) occurs where P = MC

(C)  occurs where MR = MC

(D) occurs where P = MR

Which one of the following
committees examined and suggested
financial sector reforms in India 7
{A) Bhagawati Committee

(B} Abid Hussain Committee

(C) Narsimham Commitiee

(D) Chelliah Committee

Liberalisation,  Privatisation &
Globalisation are the aims of

{A) Economic Planning

(B) Socialistic pattern of society
(C) Land Reforms

(D) Economic Reforms

The face value of money 15 more
than the intrinsic value for

(A) Bank money

(B) Optional money

(C) Token money

(D) Subsidiary money

Price rigidity is the feature of

(A} Perfect competitive competition
(B) Monopaoly

(Cy Oligopoly

(D) Monopalistic competition

Fasciam believes in

(A) Dignity of Individual

(B) Propaganda

(C) Sociulism

() Force

The principle of ‘Kinship’ is the
basis for one of the following
thearies of origin of the state

(A} Soctal contract theory

(B Evolutionary theory

(C) Force theory

(D) Divine origin theory

DA-2013
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93!

97.

100.

Monistic theory of sovereignty 15
stated by

(A)  Anstotle

By Bodin

(Cy Austin

(D1 None of the above

“A person can move the Supreme
Court by appropriate proceedings for
the enforcement of the Pundamental
Rights if violated.™ This is a
provision in

iA) Right to Equality
(B Right Lo
Remaeiies

Right against Exploitation
Right to Religious Freedom

Constitutional

L vy
()
The Indian Constitution has been
divided into

{A) 16 Chapters (B)
(Cy 25 Chapters (D)

The Supreme Court was established
in Caloutta in

24 Chapters
22 Chapters

(Ay 1771
{By 1774
(Y 1T
(D) None of the above

The exrliest extant Buddhist Stupa
comes from

(A) Sanchi (B)
(C) Bodh Gaya (D)

The Congress split into moderates
and extremist in

(A 1906 (B} 1903

(Cy 1007 (DY 1908

The tuins of Harappa were first
noticed by

(A) Charles Mason (Bl Dr. Suhni
(Cy M. Wheeler (D} MS, Vats

Who among the following made the
statement thut “Swarajya is my birth
right™ 7

{A)  Swami Vivekanand

(B) Raja Rammohan Roy

(C1  Bal Gangadhar Tilak

(D7 Swami Dayanand

Sarnath
Amaravathi
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Part =
QUANTITATIVE APTITUDE

101. While selling a watch a shopkeeper
gives 4 discount of 5%. If he gives a
discount of 7% he earns T 15 less as
profit, then the marked price of the
watch 1s
(A} T697.50 (B) 71250
(C) T T8RS0 (D) T 750

102. The ages of A and B are in the ratio
3 : 1. Fifteen vears hence, the ratio
will be 2 : 1. Their present ages (in

Years) are
(A) 45,15 {B): 21,7
(C}y 30.10 () 60. 20

103. A model of a ship is made to a scale
of 1 : 200. If the length of the model
15 4 ms, the length of the ship is
(A) 200 ms By BOD ms
(C) B0 ms (DY 20 ms

4. The average weight of nine mangoes
increases by 20 g if one of them
weighing 120 g is replaced by
another. The weight of the new
MEngo is
(A) l80g (B}y 200g
(C) 260g (D} 300 g

105, The average age of & persons in a
commiitee i8 increased by 2 years.
when two men aged 55 vears and
60 years are substituted by (wo
women. The average age of these
fwo women is
(A} 127 vears (B} 103 vears
(C} 63.5years (D) 51.5 years

106, A shopkeeper cheats to the extent of
20% while buying as well as selling.
by wsing false weights. His total gain is

107, The population of a village is 1,00,000.
It the population increases at 10K per
annum. then the population at the stant
of the third yearis
(A) 133,100 (B) 1,21.000
(C)  1,20.000 (D) 1,10,000

108. A car can finish a certain journey in
[0} hours at the speed of 48 kms per
hour. By how much should its speed
be increased so that it may take only
8 hours to cover the same distance 7
(A) 14 km/r, (B) 13 kmvhr.
(C) 10 km/hr. (D) 12 km/hr,

109. A man stans from a place P and
reaches the place Q in 7 hours. He
travels one [ourth of the distance at
10 kmv'hr and the remaining distance
at 12 knvhr. What is the distance
(in Km.) between P and Q7
(A} 70 (B) 80 (C) 72 (D) 90

1. The compound interest on ¥ 8.000
al the rate of 10% per annum,

compounded half yearly for ]% years is

(AY T 1.000 (B} 1,100
(C)y 1,200 (D} ¥ 1,261
111, If &' + 51 is divided by (x + 1), the
remainder is
(Al 0 (B) 1 (C)49 (D) 50
112. fx+y=3and x -y = |, then the
value of 1v s
(A2 (B3 (4 (D)1
113. The wvalue of k, for which the
cxpression & 4+ 4 + 5¢ — k iz
divisible by x - 2 is

(A) 20 (B) 25

C) 44 Dy 34 (A) 16 (B) 18 (C) 24 (D) 34
SPACE FOR ROUGH WORK B
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101.

102.

AB) 45,15

103.

104.

105,

1.

T -

uframomRrE st

o e wE T TEART 5% W g
T E dEEr TG FEE A
2 15 57 % e e & gE W
T P T

(A) T697.50 (B) T712.50
() 78150 P X750
ANRBF A I | FHFEHAE
teE W W ST 2 : 1 E A
1w AT () E

(By 21,7

) 30,10 (D) 60,20

T SR o HrEe 1 ;200 % 9fme ™
ﬂmﬂmﬁlﬂh’ﬂﬁ?ﬁﬁrﬁhﬁd-mst
i ST W AAEE

(A} 200 ms LB 800 ms
(C) 80 ms (D) 20 ms

S et & itEw A H 20 g ® T 6
st &, A 3 | 120 g T 0 AW
= T s ® owew @ oAw, A A
A

(A) 180g (B) 200g
(Cy 260g AP g

e Wi F 6 ST w0 s S A
Y w0 £ 55 = T 60 TH
W w1 A A A AW A
afienag 1 s A 8

(A} 274 (B} 10376
et 635 (D) 51594
T TEEET G g W A e
g |, TR S H T S 20%
o T A AR | T e
(A) 20 (B) 25 (g¥'44 (D) 34

107, ™% TE % =R 1,00,000 ¥ | T

s & 10% WA a9 @ oofE A

Frat = e § A A
. 9] 1.33.100 -.-(B{ LELU{H
{C) 1,20,000 Dy 1,10,000

mﬂ.ﬁmﬁkmnhﬁaﬁrﬂﬁ-rﬁfmﬂr

& 10 5 # g w3
oy Foerdt wgTE T AT SO AR O
w7 % fer 3 8 HE = 2

(A) 14 km/hr. (B) 13 km/hr.
(C) 10km/hr. (P 12 km/hr.

109, TF HES TH FEH Py e & AT

1 E QW T A E
=7 w10 km/he TSR E 3
i g 12 kmvir W | P 3T Q % AT
Rt gt ¥ (km ) 7

(A) 70 (B B0 (©) 72 (D) 90

110, F 2,000 7 & 30 = § w@HiE 10%

ofmd W T A 1%-&1& i e =

(A) 21,000 (B) T1,100

(C) ¥1,200 @ T1.261
111, & 25 + 51 % (x + 1) & o e

=T A F

A, 0 @) 1 (C) 49 (PY 50
lllﬂﬁx+y=3-§fﬁx—f=l'ﬂ‘1'_:}riﬁ

qH T

4+ 2 (B 3 (@4 D)1

113, & = O forgie o st (T

Srddssy-kfmmrbe_28m ¥

(A) 16 (B) 18 (C) 24 (P 34
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114,

115,

116,

17

118.

119,

120,

b
li'ﬁ'* v = =1 {x. ¥y #0), then value of

P —ylis

1

AT (B =1 0 M 3

If the graph of given linear equations
dx+ ky - 4= 0 and K-4y - 3r=10
coincides with each other, then the
vilue of k 15

{4) 3 (Bl 4 (C) -3 Dy 4
If x, y and z are real numbers and
Y4+y¥+z=7anday+vz+ar=10
then what will be greatest value of « 7
(A)2 (B)7 ()25 (D) 5

If a - -‘j; = 3. then the value of
l' .l I '||r 1 L"

“*+4_ﬂ-‘_l',|l.i1' _ﬁii]sl 15

iA) 315 (B) 252

(C) 225 D} 180

If x = 30, then 3% less than
(2% — 107} is equal to

(A} 160 By 270

{1 670 Dy 760

If the centroid of MNP Inangle is O

and MG = 5 cm, then the medizg MO
in-cm is
(A} 7.5 (B) 7 (C) 65 (D) &

It the point inside & iriangle are
equidistance from the vertex of the
sume triangle. whar the name of tha

121.

122,

123,

124.

125,

126.

127,

Angle B of a parallelogram ABCD is
607, the other angles are in the ratio
AC:Das

(A) 1:22:1 B) 2:T:53
(Cr 1+2::3 By 2:%:1
The length of the direct common
langent of two circles of radii 2 cm
and 8 cm is 8 ¢m, Then the distance
between the centres of the circles 15
{A) 8cm {B) 10e¢m

(C) 6om (D) I2em

It the circumeentre of POR triangle
5 '0" and OX 1 PQ, what the

relation between PX and X is 7
{A) PX>0OX (B) PX<QX

€ PX=QX (D) sz%i

The angles of 4 nangle are (3x)°
{’11 =7 and (dx — 11)%, the value of
XI5

(A} 18 (B) 20 (©) 22 (D) 30
AABC is right angled at A, If AB = 24 mm
and AC = 7 mm, then BC iz

(A) 20 mm (B) 25 mm

(C) 30 mm (DY 35mm

Ina AABC, the medians AD, BE and

'CF passes through G. If FG = 3.5 cm.

Find GC
(A) 6cm (B) Tem
({C} 8cm (D) 9em

The least value of cos?0 + sec28 is
A3

(D) /3

J3INM 4

point is 7
(A 1 (B
(A)  Incenire (B}  Orthocentre | bl
(C}  Median (0} Circumeentre () 2
SPACE FOR ROUGH WORK
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14, ir’fﬂf7+§=-| (ry#0) W 2 -y 121, 1 W ST ABCD 91 e B 60° &,
ek ‘ FAHEMAC: D s A e
(A) 1:2:1 B) 113
(A) 1 (B) 1 &0 I‘,'DJ% LA R (DF 2:2:1
122. Icpmﬂcmﬁmﬁﬁﬁﬂiﬂﬁm
115, gfs wew s FHET 3+ ky -4 = 0 FIE! T I E A 8 om § ) W g
AT k - dy - 3x= 0 % o T TH & FEiEdTFE
Ay HOE A kA (A) Bcm “B) 10em
(A) 3 (BY4 (©-3 D) -4 (€)' iz (D) 12em
116, 7% x, y ot o i e & shr e R i b B
I+y+2=T#My+yz+ =107 OX L PQ. ™ PX aitv QX & e =
x 1 i g F=Em wEawE
(A) 2 B) 7 (EfVBD 5 o din e R R S
e : (© PX=Qx (@ Px=%
117. ofa——= 3 mtl a2 —](3-—.“ S (2 ;
2a " Taad/ T EH]J 124. ©F %7 F ®im (30)°, (20 - 7)° 37
FHAE - o
_ (dx=1PF i rmaaE
(AY 315 (B) 252 (C) 225 (D) 180 (A) 18 (B) 20 (22 (D) 20
118, Ty =30, 7 (2 - 10%} ¥ 5% 59 =7 125, AABC 96T & A W7 | 90 AB = 24 mm
Ak ' #TAC=T7 mm, ot BC¥
(A) 160 (B) 270 (C) 670 (D) o 2mm W 25 mm
¢ 790 (C) 30 mm -IIED“.I 35 mm
119, : y 3
9. R MNP frpt #1959 G ¥ o 126. U B AABC &, wifet AD, BE
MG = 5 cm, # cm ¥ wifeos MD # ™ CFf EGH 1 i FG=35¢em
(AY' 75 (B) 7 (C)65 (D) 6 ol GC ey Wiy |
; (A) 6cm @) Tem
120. =% 5 gt & e fay it g & (€) 8em (D) 9cem
?ﬁﬁﬁmﬁ.ﬂiaﬂﬁgiﬂm 127 . .
S . COS“B + sec-0 W1 =AW o #
IA)  FE (B)  #w¥% (A) | (B) 3'?'5
C ; 2
(© whmm @ o s ©) 25
T FE ¥ 1w = !

@ore Video / Audio Tutorials & Study Material visit
www.ssc-cgl2014.in



www.ssc-cgl2014.in
https://www.facebook.com/cgl.ssc2014

128. Ihere is one number which is formed

129.

130.

131.

132.

; {C) lﬂé days

by wrling one digit 6 times

(eg. 111111, 444444 etc.). Such
nurnber is always divisible by

(A 7 By 11

(Cy 13 (D) All of these
If x » y =x* 4y + 1, what is the
‘-raJueaf: : i 7

g
(A) 5 (B} 3 {C‘J% (D} 10

If 8 men can reap B0 hectares in 24
days. then how many hectares can 36
men reap in 30 days 7

(A} 350 (B) 400 (C) 425 (D) 450

A can do a piece of work in 14 days
which B can do in 21 days. They
begin together but 3 days before the
completion of the work, A leaves off.
The total number of days 10 complete
the work is
3 1
(A) 6F days (B) 87 days

(D} 13%::!;1.1.'5

A cistern can be filled by two supply
pipes in 20 mins and 30 mins
respectively, But a waste pipe can
¢mpty it in an hour. Both the su ly
pipes were opened together to fill the
empty cistern, hut by mistake the
waste pipe was also open. How much
later was the waste pipe closed, if the
cistern is filied in 14 mins ?

(A) G mins (B) 8 mins
(Cy 10 mins D} 12 mins

133,

134

135.

136,

137.

30 em and 20 ¢m and the area of |
450 cm?, the distance berween t
parallel sides is

(A) lbcm iB)
(C) 19¢m (D

The parallel sides of a lrapezrumﬂ:{ o
L8

18 cim
20 cm

To raise the height of a low land,
48 m long and 31.5 m broad, to
6.5 dm;: a ditch, 27 m long and 18.2
m broad, was dug in a side plot. The
depth of the ditch will be
(A} Im {B)
(C) 22m ey

Z21lm
25 m

A cylinder has a diameter of 14 cm
and the srea of its curved surface is
220 sgem. The volume of the
eylinder 1%

(A) 620 cm’ (B)
(Cy 707 em’ (D)

670 em?
170 em?

A trader gives IWo successive
discounts of 15% and 10% on the
marked price of an anicle, 1f the
selling price is T 765, the marked
price 15

(A} X 850 (B)
(C) TR0 (D)

T 1,000
T 900

A shopkeeper eamns a profit of [7%
on selling & book at 108 discount on
the printed price, The ratio of the C.P.
to the printed price of the book 1s

(A) 9:17 By 10:13
() 1k (D) 10:17
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128.

129.

10,

131.

132.

e T | uw @ S 6 1 o

T A OE (- 1111110 444444
i) UF 3 T A AT
iA) TH By I11H
(C) 134 (D) AR
: o £] e 15
mr¢}r=f+r+l~m—"—1-1ﬂ'ﬂﬁ
M7

10
(A) % @3 ©5 D 10

o7 § wEE 24 A H 80 FREA TN
7 TA T, A 36 @wE 30 f 9 R
T A W AT 6 _

(A) 350 (B) 400(C) 425 (I} 450

: |

(A) ﬁ%ﬁ'ﬁ (B) 85f
: |

e ltréhﬂ {D) lﬁiffr—r

e 1 5 TETE T T EEE 20
%ﬁﬁn 30 forre 0 w0 W E
e T S T 38 T S N T
o R L
w1 W ¥ T v e e

1331

T FEE (PR R
30 cm 79 20 om & ST T §EAEE
450 cm? &, FHIET M H R E

(A) 16cm (B
(Cy 19c¢m (D)

|8 cm
20 cm

134, TF 48 m w37 315 m = EE

135.

134,

137.

= F9% 6.5 dm 7% TH F AT
7 e B 27 m A ST 18,2 m

ot gt T | TS G TR B
&) 2m (B) 2.1m
(€ 22m D) 25m

e S T 14 om € AT IHE TR
= W EEEE 220 sqem'E | FOF F
AT B

(A) 620 cm’ (B) 670 cm’
(€} 707 cm’ (770 o’

e e e
|55 T 105 # = FvE R 1
i | o T ge T 765 ¥, A 3w
T B
JE) T 1.000

(A), TESD
Cy T ROD (D 900
o TR g $iET WO10% E3)

FEH T U e g 7% WA

Fﬁ#ﬁmﬁr ﬂ“lﬂgqﬁq sishilbigayal it % ot
ﬁﬁﬂ‘iﬂ Ei‘irﬁawg T3% 14 Fr A qﬁ*“'“ﬁ' e it TE

(A) ﬁ-'fSFE' (B &7 () 9:17 4B) 10:13
10 D) 12 fmE (€ 13:17 (D) 10:17
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138. In a AABC, the value of sin 25— is
equal to
Iiﬁ.] rns% iB) T.EJI%
{C) cm% (D) cosecs

139, If tan o + cot & = +/3, then

tan*c + cot’at is equal to
(A) 0 B +f3
(C) 33 (D) 1

cot40°  1fcos 35°)

144, Evaluate an 50°  2\sec 55”1
3
(A) 2 (BY 1
1
(C) 3 Dy 0

141. If PQ and PR are equal sides of an

Bar diagram showing the effect of lill:rﬁ
drive within both sexes in 5 units. Study

bar diagram and answer Question Nesj
144 10 147 !

EZZ7] Miale i
00 + C—] Female' 9
350 + q
2 300 - 1
: !
Ezsu $ 1
. 3 -1 |- |
n. |- ———————
=150 + |
I":H'J S :
50 1 1 E ”
N T i T S T
Umits

144, The ratio of differences between
male & female in U-4 and U-3 is

isosceles mght angled APQR, then (A) 1:2 (B 2:1
LY k=3 m 1:1
find the value of tan @ + oot L0 2 e
(A) 2 (B} 2 '-.E 145, T:e p-: ?].-enmge of feﬂ]-;a]es :.n U-3is
(C) /3 (D) W2 (A) (B) 375
i ) (C). 357 (D) 35
142, If tan (8 — 30%) = ;,". then the value - :
3 146. Difference between no. of males in
of 8 is U-1 and no. of females in U-5 is
{A) ©° B) e {A) 270 (B1 50
(C) 60° (D) 90° () 220 (D) 320
g
143, 1f cos o = 13 and ) < a < 0%, then 147. The percentage of males in U-4 is
the value of cot of + cosec o is (A) 30 (B) 100
(A) 2 (B) 35 100 L
€ 4 D) 15 S (P) 3pg
DA-2013 333NM4
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138, 7 AABC =, sin A:Bﬁﬁﬁfﬂﬁﬂ*
T
AA) cos 5 (B} tanzm
" B ;
(€} cots (D) cuseu%

139, 9% tan o + cot @ = 3, @
anto + cor'o s =T 0

M0 B 3o RED 1
g ot 40°  1fcos 35°)

140, Al
0. AP I 505 Slsec 55°)

3
(A) 5 (B) I

Mo s k. Terwmecd
141. =% PQ 70 PR Geigeig @9Emm APQR

i F e A an 5 4+ cot £Q

|

T T A F AT
A 2 (B) 22
(Cy 3 D} W2

142, I tan {ﬂ-3n°}=:}§.ﬁrammﬁ%

(A) ©° (B) 30° (Cy's0° (D) 90°

5 )
143, ﬁmu=ﬁm0<uﬁﬂm.m

col O + cosec o F Hiv .
(A) 2 (B) 35(C)4 My15

5 g2 7 T T % i wmeer S0 qam
T AT ST AW i i | g s W
AT FF W . 144 F 147 % 3w A |

£ T
40 + [—
50+ .
Eanu -
: 250 + — -
Fm | B
EI&D *

o -1 U2 h) U4 1S
e .
144, U-4 3 U-3 & wont ey wigemait &
e ST AT E
(A) 1:2 (B) 2:1
() 1:3 o 1:1

145, U-3 5§ nfgemai = v &
{A) 30 (B)37.5 (€) 35.7(D) 35

146, U-1 § 9591 = Tem #iw U5 &
i F g F Ay s
(A} 270 (B) 50 (C¥ .20 (D) 320

147, U-4 % qear =7 wivers &

3

(A) 50 (B) 100 (C) % (D) ?'IE

TEEREm S o0 oo o L

For More Video / Audio Tutorials & Study Material visit

www.ssc-cgl2014.in



www.ssc-cgl2014.in
https://www.facebook.com/cgl.ssc2014

The distribution of James, expenditure

duri

ng 2005 is given below :
His income = T 1,80,000 in 2005.

Study the diagram and answer
). Nos, 148 to 150.

148. How much did he spend on medicine

149.

150

(inH)y?
(A) 8,000 (B) 11,000
(C) 9,000 (D) 10,000

His exp. on petrol is what S of his
exp. on food ?
(A) ll'é'?i: (B) 9%
1 4
) % (D) 445%

. The ratio of James’ income in the year
2004 and 2005 is 4 : 5 and the ratio of
his expenditure on medicines is 3 @ 2.
Approximately what % of his income

145.

146.

147.

148.

149,

fr+y=2and 2 +y =418
value of £ + v is

(A) -l6 (B) &
(C) =40 Dy 14

The average temperature for 15
7™ day, 3™ day was 40 °C.
average temperature for 2°° day,
day, 4" day wag 41 °C. K
temperature on 47 day be 42
what was the temperature on 17 day
(A} 37°C (B) 38°C
() 38°C (D) 35°C

in how much time will a sum of
7 1.600 amount to ¥ 1,852.20 at 3%
per annum compound interest ?

(A) 3 years (B) 2.5 vears
(C) 3.5 vears (D} 4 years

If the longer side of a rectangle is
doubled and the other reduced to
half, the area of the new rectangle

goes up by
(A) S0% By 100%
({C) 0% (D) 150%

A box comtains 280 coins of one
rupee, 50 paisa and 25 paisa. The
values of the three kinds of coins are
in the ratio of 8 : 4 : 3, The number

{d]e-f}hﬂl ﬂr% o me:.hr.:a? ini éﬁ? of 25 paisa coins is S
: ' (A) BO
() 11.2% o 1L6% o i
VoK mﬁf1ﬁﬁﬂfﬁp 150. Krishna sells his watch at a loss of
' : 5% 1f he had sold it for ¥ 56.25 more
144. The smallesi number which when he wb-.;uﬁ have galine.d 105, Whg}
' 1by 17,1 tdy divisible will be his gain or loss percentage 1
:;ﬂ?szbu}and 41::3 T:m S he sells it for ¥ 4507
{A) 4663 (B) 4680 (A) 10 {B) 15
(C) 4863 (D) 4883 {C) 20 Dy 30
SPACE FOR ROUGH WORK
DA-2013 333NM 4
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T 2005 & TR T F =g w5 e e e

AT -
FHE A =T 1.80.000, 2005 =

%
4=

=

BT |

148, 35 Smbrt o e o o (2 ) 2
(Al 8000 (B) . 11,000
(©) 9,000 (21 10,000

149, 2T T SR S RN W 3HE =Y
=1 fert ol k7
L

(A) IIE‘% Bl 9%
u ] I L ! *
(i Hﬁfﬂ- H:,- 44;%

150, =7 2004 7 2005 F S = 5w W
T 4 5 & A it o awn
¥ OAIA 3 : 2 F | 3ET 2004 |
gt T WO S e e
wrm ey fEmear .
(A) 10.8% «(B) 10.4%
(C) 11.2% (D) 11.6%

e geaian i & e
144 TR o A s e 170
AT AT A EW 520 HW 468 T A

I ] AT wE 0 4, 148 | 150 # 3

M5, st s+ y=2 R 2 +y? =4, @
Oy E R
(A} —16 (B) 8 (CO)-40(D) 14

146, T8 o @ BT A oAt R oW
FrER AT 40 °C @ | gEe fim, et
fa=, =@M o= % far sfiag A 41 °C
a7 | g W T M A 42 CE W

TR B S ATYST T 9
(A 3750 {B1 38°C
(Cy 39°C () 35°C

147. T 1600 1t vs o e T F 5%
uid wwafE = 7 T 185220 @

W 7
(A) 377 (B) 2574
(C) 3599 (D) 439
148. i et angm = ot ge 5t w0 S
o ST g e T A w5 W A
U HTET W OHARA e = A
{A) 50 (B 100%
(C) 0% M 150%

% fem & v% wum, 50 49 v 25 o9
¥ 280 fows ¥ | A7 oww % e W
FTH8:4 . 3F il 5%
o FoesT = B

{A) BO (B) 100 (C) 120 (D) 30
150, P97 50 92 5% R o w AT | 3R

0 9% T 56.25 e § o Bef A 39
0% AT | I assg T4509

149,

T e T © A E :
(A) 4663 (B) 4680 A A T A AT A Wi w5
{C) 4863 (D) 4883 | (A) 10 (B) 15 (C)20 (D) 30
T HTT & T wm
s 7 DA-2013
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Part - D

ENGLISH COMPREHENSION

Directions ; In Question Nos. 151 to 153,

choose the word opposite in meaning to the

gl;'-'cn word and mark It in the Answer
eet.

151, Indic"
A4) Exonerate (B) Cross-examine
(C) Prevail (D) Respond
152, Vigorous
(A} Rough (B) Rare
AC) Fechle (D) Artful
153. Docile
{A) Good (B) Static
(C) Stupid 4D} Stubbom

Directions : In Question Nos. 154 to 158,
four alternatives are given for
[diom/Phrase underlined i the sentence.
Choose the alternative i
expresses the meaning of the Idicam/Fhrase
and mark it in the Answer Sheet.
154, The sentatives of the two states
iried 10 enforce a treaty which was

ad .
{E] not well-thought out

C'; no longer in force
no longer relevant .
D net in keeping with the
changing times
{55, On hearing the news of the
kidnapping, she became afiid of her
W w

A} cold and distant
(B} afraid of her own safely !
o L nervous and  easily
frightened
(D) afraid of being 2lone
156. To be fair apd squace
(A) worthy «B7 honest
(C)  succassiul (D) obedient
157. She just needs forty winks in order to
be able (o work all night.
(A) someone's help
(B} to take a stroll
a short nap
(D) a little cooperation
158. The minute she amived at the office,
she was given the pink sfip.
{A) araise

(B} a promoton
| a letter to inform that she had

lost her job
B} a lewer to inform that she'd
been transferred

DA-2013

Directions : In Question Nos, 159 1o 168,
5 sentence / a part of the sentemce i
underlined. Below are given alternatives 1o
the underlined part at (A), (B) and 1<)
which may improve the sentence.

the correct alternative. In case no=
improvement is needed your answer is (D).

Mark your answer in the answer sheet.

159. He is absent from the meeting.
(A) at
B} in
{C) during
y  Noimprovement

160. Sheetal has jusi gone o her family W

Mumbhai
LA visited
By found
(C) joined
(DY No improvement

161, The man who had jumped into the
lake managed to swim ashore.
(A) who jumping into the fake
(B) jumping into the lake
€} who jumped into the lake
Jg} No improvement

162. I am working on my assignment since

Monday.

(A) was working on my assignment

B} have peen working on my
(&5 ERmeTnt

(C) had 1o be working om my
assignment

(D) No improvement

163. His journey to Sri Lanka was official.
with no frills attached.
{A) nolaxes
{(B) no problems

i), no ACCOMpanIments
1 no improvement

164. Our baskethall team play badly last
Friday.
(A) plays badly
(B, played bad
played badly,
(D) Nomprovement
333NM 4
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165. Please make it a point 1o send your
letter at my address.
(A) onmy address
_¢8) tomy address
(C) in my address
(D) No improvement

166, We are looking forward lo seeing
vOu again.
(A) forseeing
(B) onseeing
{C) atseeing
(BT Noimprovement

167. | came to school riding my bicycle,
(A5 by my bicycle
_(B) onmy bicycle
Ji[? along with my bicycle
]

No improvement
168. [ have already resd this book twice .

(A) 1 already twice have read this

book.

{B) I twice have already read this
book.

(C) 1 have twice already read this
book.,

D) No improvement,

Directions : In Question Nos. 169 1o 175,
out of the four alternatives, choose the one
which can be substituted [or the given
words/sentences  angd  indicate it by
blackening the appropniate oval (@] in the
Answer Sheet.

169. An animal living on fish

(A) Camivore (B} Hertwvore

JCy" Piscivore (D) Parasite
170. Can be read clearly

(A) Eligible (B} Intangible

(C) Illegibie (D> Legible
171. The act of killing one's own father

(A) Parricide . ~Fatricide

{C) Fratricide (D) Parasie
J3INMA4

29

172. Government runs its administration
through depariments staffed by civil

servints

AT Bureaucracy (B) Democracy

(C) Anstocracy (D) Oligarchy
173, Person who directs preparation of a

newspaper

(A} Instructor (By Auditor

J&y Editor (D) Author

174. A person who does not think or
behave like evervome else, but has
independent, unususl opinions

(A)  Hermit (B)  Individual
AET M verick (D) Matriarch
175. Child of unusual or remarkable talent
~A)  Prodigy By Genius
©Cy Geek D) Intellectual

Directions : In Question Nos, 176 10 177,
four words e given in each question, out
of which only one word is corectly spelt.
Find the correctly spelt word and mark
your answer in the Answer Sheet.

176. {A) Debavchary (B) Debouchery

wAC, Debauchery (D) Dibauchery
177. (A} Inovation {BY  Innovation
(C) Inpovasion (D) Inovasion

Directions : In Question Nos, 178 1o 187,
you have rwo brief passages with
5 questions following each Eamge- Read
the passages carefully and choose the best
answer to each question out of the four
aiternatives and mark it by blackening
the appropriate oval (@] in the Answer
Sheet,

Passage — [ (Question Nos. 178 to 182)
The saving of certain wild animals from
extinction has for—many years been 2
‘problem _ for  zoologists _and _ other
speciakists, bui more recently the problem
has become s0 acute, and has received so
much publicity, thet 1ost people are now

S

Toncemned about it. This may at first seem

Sfrange because one Of (he most griifying

~developments of the last few years has
‘been the passing of strict laws to protect

wild animals and the consequent decline in
DA-2013
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the hunting of big-game for sport. Why 1s

it then that some rare wild animals are still

threatened with extinction and ¢ven some
of the less rare ones are rapidly declining
in number ?

One reason is the "march of civilization’.

When an area is wholly cleared of

vegetation to make room for pew LOWNS,

factory sites or hydroglectric plant the
patural home of several species is
destroyed. The displaced animal must
either migrate to another area or perish,

Even the clearing of land for a or afn

airfield may involve ‘pushing back’ the

jungle and the smaller the area in which
wild animals compete for a living, the

smaller the number that can hope 1o

SUrvive,

178. According to the author what is
referred to ‘This may at first seem
strange’ ?

}h; Lhe problem of saving certain
: wild animals

‘B) The hunting of big-game

(C) The clearing vegetation

(D} The extinction of animals

179. What is meant by *pushing back the
Jungie .
“(Aj  To move jungle away
‘B1 To compete for a living
€] Clearing of vegetation to make
towns and factory sites
(D) Removing the jungle

180. What has the passing of sirict laws

resufteo 1n

{A) A proolem for zoolugists

(BT The declive of big-game
hunting for spoit

(C} Smaller locauons for towns

(D) Wiping out wild animals in
smaller number

181. What is the main reason for an area
t-j;%re wholly cleared 7
of The march of civilization
B} To make rooms for rane animals
C) To grow trees
(D) To reduce the area of the jungle

182. The meaning of the word ‘gratifying” is
( resulting (B) reducing
} P]E-ﬂﬁiﬂg j:-,l d-'l:ﬁ].l-ﬂ-lﬂg

DA-2013

Passage — [1 (Question Nos. 183 to 1855
The word ‘patniotism’ means love for o
motherland. It s a natural feclin
almost every person possesses. If
has no love for his motherland, he-m
as good as dead. ‘Love of our cousss
should become our motto, The love &
one's motherland is more significant S
all other varieties of love. This love maySe
there because of the physical beauty &
one's motherland — its landscape, fertilss
or rich natural resources. But, it really s
thing to be proud of. Tt instills a feeling &€
owhness in & person and he or she comes
to have an emotional hand with the land o
his or her birth. This love i.e. ‘patriotism &
untouched by selfishness’. On the other
"hand & patriot is always prepared to make
%acrifices for his of her country.
183, According to the author

(A)  All cannot love their coumry

B Love of our country is more

important than other kind of
e
{Cy  One should live by his motto
{1 One should love oneself first

b wigg =il & kel

184. The author feels that patriotism is not
linked 1o
(A) pride (B) corruption
(C} generosity .(B) selfishness

185, A patriof is always
(A} ready o glorify his country
(B) ready to rule his country
JeT ready to sacrifice himself for
his country
(D) ready to work for his country

186. We can pay homage 10 our patriots

1y

(A) huilding memorials in their
honour

{B) making speeches in their praise

ig% publishing their biographies

emulating them

187. The word Patriotism means
AT Lave for one’s motherland
{B} Love for one’s mother
(C) Love for oneself
(D) Lowve for one’s culiure
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Directions : In Quesiion Nos. 188 10 192,
some parts of the sentences have emors and
some are correct. Find out which part of a
senlence has an error and blacken the oval
@ comessponding w0 the appropriate
=uer (A B, C). If a sentence is free from
amor, blacken the oval comresponding to
(D} in the Answer Sheet,

Directions : In Ouestion Nos, 193 o 197,
sentences are given with blanks to be filled
in with an appropriate word(s), Four
alternatives are suggested for esch question,
Choose the comect alternative out of the
four and indicate it by blackening the
appropriate oval (@] in the Answer Sheet.

193, The manager began to doubt the

of his assistant,
AAY  credits (B) credit
H_ arniid bnysf €T credentials (D) chances
(A 194, You should the
that one ought to work hﬂfdf oppertunity when it comes.
{B) (A) cedse ABY seire
10 earm lug'living,  No error (C)  sense (D) size
€’ | D)
' 195. We must ourselves to
changing circumstances.
(A) adop (B) adept
189, The Nile is said mheﬂ:elﬂnger. L& adapt (D) accept
(A
19%. You should stan, vOu ane
g “ﬂjﬁ ke, likely to miss the frain,
_ _ (A)  indeed +BT otherwise
in the eastern hemisphere.  No error (C} in fact (D) consequently
{C) (D)
197. The hawkers are selling their
in the streets.
) {A) wire ; Wares
%0, Emmﬂﬂm packed 4 (C) wam (B wear
and were ready to leave. No error Directions : In Question Nos. 198 (o 200,
g (B) () D) out of the four alternatives, choose the one
- which_best expresses the m:umng of the
given word and mark it in the Answer
Sheet.
The thief beokp in the  house in the
191, —-—LMF' = 198. Tirade
: 4A) Denunciation (B) Eulogy
dead of the night. | No emmar (C) Discredit ") -Speech
{(C) (D)
199, Vicissitudes __
(A) Sormows 4B) Misforunes
2 It is difficult m]'ﬂﬁﬂ {C) Changes (D) Surprises
(A) (B) 200, Cirgumscribed
ufEmnmu‘s fﬂﬂm Limited (B) Entangled
(G (D) (C) Destroyed (D) Eroded
Sl 3l —— A\ DA:2013
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